

## Disclaimer

The solution at hand was written in the course of the respective class at the University of Bonn. If not stated differently on top of the first page or the following website, the solution was prepared and handed in solely by me, Marvin Zanke. Anything in a different color than the ball pen blue is usually a correction that I or a tutor made. For more information and all my material, check:

<https://www.physics-and-stuff.com/>

**I raise no claim to correctness and completeness of the given solutions! This equally applies to the corrections mentioned above.**

This work by [Marvin Zanke](#) is licensed under a [Creative Commons Attribution-NonCommercial-ShareAlike 4.0 International License](#).

19.05.2017

Quantum Field theory Exercise 4

Marvin Zauke

114)

$$L = \bar{\psi} (i\cancel{\partial} - m) \psi = \psi (i\cancel{\partial}^\dagger - m) \bar{\psi}$$

More than 1 component?  $\rightarrow 4$  eq.  
 $\frac{\delta L}{\delta \psi} = 0$

a) E.L. eq:  $\partial_\mu \frac{\delta L}{\delta (\partial_\mu \psi)} - \frac{\delta L}{\delta \psi} = 0$

$$\Leftrightarrow 0 = \partial_\mu (\bar{\psi} i\cancel{\partial}^\dagger) + \bar{\psi} m = \bar{\psi} (i\cancel{\partial}^\dagger + m)$$

$$= \bar{\psi} (i\cancel{\partial} + m) \quad \checkmark$$

analogue for  $\bar{\psi}$ :

$$0 = \partial_\mu (0) - (i\cancel{\partial}^\dagger - m) \bar{\psi}$$

$$\Leftrightarrow (i\cancel{\partial}^\dagger + m) \bar{\psi} = 0$$

$$\Leftrightarrow (i\cancel{\partial} - m) \bar{\psi} = 0 \quad \checkmark$$

general energy momentum tensor (derived with infinitesimal translation) needs  $L$  to be independent of space-time?

b)  $T^{\mu\nu} = \frac{\partial L}{\partial (\partial_\mu \psi)} \partial^\nu \psi - g^{\mu\nu} L$

$$= \bar{\psi} i\cancel{\partial}^\dagger (\partial^\nu \psi) - g^{\mu\nu} \bar{\psi} (i\cancel{\partial} - m) \psi$$

use eq. of motion (Dirac) here  $\rightarrow$  vanishes

$$= i \bar{\psi} \cancel{\partial}^\nu \psi$$

c) Let  $\psi$  be a solution of the Dirac eq. for massless fermions, such that  $(i\cancel{\partial} - m)\psi = i\cancel{\partial}\psi = 0$

$$\rightarrow i\cancel{\partial} (\gamma^5 \psi) = i \partial_\mu \gamma^\mu \gamma^5 \psi = -i \partial_\mu \gamma^5 \gamma^\mu \psi$$

$$= -i \gamma^5 \cancel{\partial} \psi = 0 \quad \checkmark$$

where we used  $\{\gamma^5, \gamma^\mu\} = \{i\gamma^0\gamma^1\gamma^2\gamma^3, \gamma^\mu\}$   
 $= i(\gamma^0\gamma^1\gamma^2\gamma^3\gamma^\mu + \gamma^\mu\gamma^0\gamma^1\gamma^2\gamma^3) = 0$

all but one permutation yields a (-)  $\rightarrow 3 \times (-1)$

d)  $P_{Dir} = \frac{1}{2} (M + \gamma^5)$

i)  $P_{Dir}^2 = \frac{1}{4} (M + \gamma^5)^2 = \frac{1}{4} (M + \gamma^5)^2 + 2\gamma^5 = \frac{1}{4} (2M + 2\gamma^5) = \frac{1}{2} (M + \gamma^5)$

where we have used  $(\gamma^5)^2 = (\gamma^0\gamma^1\gamma^2\gamma^3)(\gamma^0\gamma^1\gamma^2\gamma^3) = (\gamma^0)^2(\gamma^1\gamma^2\gamma^3\gamma^1\gamma^2\gamma^3)$   
 $= (\gamma^1\gamma^2\gamma^3\gamma^1\gamma^2\gamma^3) = (\gamma^1)^2(\gamma^2)^2 = 1$



$$P_L P_R = \frac{1}{4} (1 - \gamma^5) (1 + \gamma^5) = \frac{1}{4} (1 - \gamma^5)^2 = 0$$

$$P_R P_L = \frac{1}{4} (1 + \gamma^5) (1 - \gamma^5) = \frac{1}{4} (1 - \gamma^5)^2 = 0$$

Null was zeigen?



$$P_L + P_R = P_R + P_L = \frac{1}{2} (1 - \gamma^5) + \frac{1}{2} (1 + \gamma^5) = 1$$

ii)  $\psi_{LR} := P_{LR} \psi \implies \psi = P_L \psi + P_R \psi$

$$\implies \mathcal{L} = \bar{\psi} \uparrow (i \not{\partial} - m) \psi = (\bar{\psi}_L + \bar{\psi}_R) (i \not{\partial} - m) (\psi_L + \psi_R)$$

$\uparrow (P_L + P_R)$       $\uparrow (P_L + P_R)$       $\uparrow \bar{\psi}_{LR} = (P_{LR} \bar{\psi}) = \bar{\psi}_{LR}^\dagger \gamma^0 = \bar{\psi}_{LR}$

$P_{LR}$  acting on  $\psi$  defined like this!

$$\begin{aligned} \bar{\psi} P_{LR} &= \bar{\psi}^\dagger \gamma^0 P_{LR} \\ &= \bar{\psi}^\dagger P_{LR} \gamma^0 \\ &= (\bar{\psi} P_{LR})^\dagger \gamma^0 \\ &= \bar{\psi}_{LR}^\dagger \gamma^0 \\ &= \bar{\psi}_{LR} \end{aligned}$$

$$= (\bar{\psi}_L + \bar{\psi}_R) i \not{\partial} (\psi_L + \psi_R) - m (\bar{\psi}_L + \bar{\psi}_R) (\psi_L + \psi_R)$$

$$= \bar{\psi}_L i \not{\partial} \psi_L + \bar{\psi}_L i \not{\partial} \psi_R + \bar{\psi}_R i \not{\partial} \psi_L + \bar{\psi}_R i \not{\partial} \psi_R - m (\bar{\psi}_L \psi_L + \bar{\psi}_L \psi_R + \bar{\psi}_R \psi_L + \bar{\psi}_R \psi_R)$$

$$\bar{\psi}_L i \not{\partial} \psi_R = \left( \frac{1 - \gamma^5}{2} \bar{\psi} \right)^\dagger \gamma^0 i \not{\partial} \left( \frac{1 + \gamma^5}{2} \psi \right)$$

$\uparrow$  def. of  $P_L$  and  $P_R$       $\uparrow$   $\gamma^5 \not{\partial} \gamma^5 = \not{\partial}$

$$= \bar{\psi}^\dagger \gamma^0 \frac{1 + \gamma^5}{2} i \not{\partial} \gamma^5 \frac{1 + \gamma^5}{2} \psi = \bar{\psi} i \not{\partial} \gamma^5 \underbrace{\left( \frac{1 - \gamma^5}{2} \right) \left( \frac{1 + \gamma^5}{2} \right)}_{P_L P_R} \psi = 0$$

$$\bar{\psi}_R i \not{\partial} \psi_L = \left( \frac{1 + \gamma^5}{2} \bar{\psi} \right)^\dagger \gamma^0 i \not{\partial} \left( \frac{1 - \gamma^5}{2} \psi \right)$$

$\uparrow$  analogie      $\uparrow$   $P_R P_L$

$$= \bar{\psi} i \not{\partial} \gamma^5 \underbrace{\left( \frac{1 + \gamma^5}{2} \right) \left( \frac{1 - \gamma^5}{2} \right)}_{P_R P_L} \psi = 0$$

$$= \bar{\psi}_L i \not{\partial} \psi_L + \bar{\psi}_R i \not{\partial} \psi_R - m (\bar{\psi}_L \psi_L + \bar{\psi}_L \psi_R + \bar{\psi}_R \psi_L + \bar{\psi}_R \psi_R)$$

$$= \underbrace{\bar{\psi}_L i \not{\partial} \psi_L}_{\mathcal{L}_L} + \underbrace{\bar{\psi}_R i \not{\partial} \psi_R}_{\mathcal{L}_R} \quad \text{for } m = 0$$

$\bar{\psi}_L \psi_R \neq 0$  but what about  $\bar{\psi}_L \psi_L$ ? all happens  $\implies \bar{\psi}_L \psi_L = \bar{\psi} P_L \psi = 0$

So Lagrange density decomposes into left- and right handed part for massless fermions. Otherwise we would still have the coupling with the mass between them.

Explicitly prove that not possible for  $m \neq 0$ ?



$$e) \begin{pmatrix} \psi \\ \psi^\dagger \end{pmatrix} \mapsto \begin{pmatrix} \gamma^0 \psi \\ \psi^\dagger \gamma^0 \end{pmatrix} \mapsto \begin{pmatrix} \psi \\ \bar{\psi} \end{pmatrix} = \begin{pmatrix} \psi \\ \psi^\dagger \gamma^0 \end{pmatrix} \mapsto \begin{pmatrix} \gamma^0 \psi \\ \psi^\dagger \gamma^0 \gamma^0 \end{pmatrix}$$

$$\bar{\psi} \psi \mapsto \psi^\dagger \gamma^0 \gamma^0 \psi = \psi^\dagger \psi \stackrel{\{\gamma^0, \gamma^0\}=2}{=} \psi^\dagger \psi = \bar{\psi} \psi \checkmark$$

↳ not invariant

$$\bar{\psi} i \gamma^5 \psi \mapsto \psi^\dagger \gamma^0 \gamma^5 \gamma^0 \psi = \psi^\dagger \gamma^0 \gamma^5 \gamma^0 \psi = -\psi^\dagger \gamma^0 \gamma^5 \psi = -\bar{\psi} i \gamma^5 \psi \checkmark$$

↳ not invariant

$$\bar{\psi} \gamma^\mu \psi \mapsto \psi^\dagger \gamma^0 \gamma^\mu \gamma^0 \psi = -\psi^\dagger \gamma^0 \gamma^\mu \psi = \bar{\psi} \gamma^\mu \psi \checkmark$$

↳ invariant

$$\bar{\psi} \gamma^\mu \gamma^5 \psi \mapsto \psi^\dagger \gamma^0 \gamma^\mu \gamma^5 \gamma^0 \psi = -\psi^\dagger \gamma^0 \gamma^\mu \gamma^5 \psi = \bar{\psi} \gamma^\mu \gamma^5 \psi \checkmark$$

↳ invariant

$$\bar{\psi} \sigma^{\mu\nu} \psi \mapsto \psi^\dagger \gamma^0 \sigma^{\mu\nu} \gamma^0 \psi = -\psi^\dagger \gamma^0 \sigma^{\mu\nu} \psi = -\bar{\psi} \sigma^{\mu\nu} \psi \checkmark$$

$$= -\bar{\psi} \frac{i}{2} [\gamma^\mu, \gamma^\nu] \gamma^0 \psi = -\bar{\psi} \sigma^{\mu\nu} \psi \checkmark$$

↳ not invariant



What for?  
Physical meaning?

Do  $\psi, \bar{\psi}$  fulfill Dirac eq. mass?  
Yes! Problem is that before, we were looking for solutions of Dirac by demanding a minimum of Action and thus couldn't already use Dirac eq.

$$f) V^M(x) = \bar{\psi}(x) \gamma^M \psi(x)$$

$$\partial_\mu V^M(x) = \partial_\mu (\bar{\psi}(x) \gamma^M \psi(x)) = \bar{\psi}(x) \overleftrightarrow{\partial}_\mu \psi(x) + \bar{\psi}(x) \overleftrightarrow{\partial}_\mu \psi(x)$$

$$\psi(x+m) = 0 \quad (i\partial - m)\psi = 0$$

$$\psi(x) = -\frac{m}{i} \psi(x) \quad \Rightarrow \partial \psi = \frac{m}{i} \psi$$

$$\left( -\frac{m}{i} \bar{\psi}(x) \right) \psi(x) + \bar{\psi}(x) \left( \frac{m}{i} \psi(x) \right) = 0 \checkmark$$

$$A^M(x) = \bar{\psi}(x) \gamma^M \gamma^5 \psi(x)$$

$$\partial_\mu A^M(x) = \partial_\mu (\bar{\psi}(x) \gamma^M \gamma^5 \psi(x)) = \bar{\psi}(x) \overleftrightarrow{\partial}_\mu \gamma^5 \psi(x) + \bar{\psi}(x) \overleftrightarrow{\partial}_\mu \gamma^5 \psi(x)$$

$$= \bar{\psi}(x) \overleftrightarrow{\partial}_\mu \gamma^5 \psi(x) - \bar{\psi}(x) \gamma^5 \overleftrightarrow{\partial}_\mu \psi(x)$$

$$\stackrel{\text{Dirac}}{=} \left( -\frac{m}{i} \bar{\psi}(x) \right) \gamma^5 \psi(x) - \bar{\psi}(x) \gamma^5 \left( \frac{m}{i} \psi(x) \right)$$

$$= -2 \frac{m}{i} \bar{\psi}(x) \gamma^5 \psi(x) \neq 0 \text{ for } m \neq 0 \checkmark$$

$$= 0 \text{ for } m=0$$

Could also account to zero?



Now, we look at the transformation  $\psi(x) \mapsto e^{i\alpha} \psi(x) \mapsto \bar{\psi}(x) \mapsto e^{-i\alpha} \bar{\psi}(x)$

It's associated Noether current is  $j^\mu = \frac{\delta \mathcal{L}}{\delta(\partial_\mu \psi)} \Delta \psi - X^\mu$

Where  $X^\mu = 0$ , as  $\mathcal{L} = \bar{\psi} (i\partial - m) \psi \mapsto e^{-i\alpha} \bar{\psi} (i\partial - m) e^{i\alpha} \psi = \mathcal{L}$

The infinitesimal transformation is  $\psi'(x) \approx (1 + i\alpha) \psi(x)$

$$\bar{\psi}'(x) \approx (1 - i\alpha) \bar{\psi}(x)$$

$$\mapsto \alpha \Delta \psi(x) = i\alpha \psi(x) \Leftrightarrow \Delta \psi(x) = i\psi(x)$$

$$\alpha \Delta \bar{\psi}(x) = -i\alpha \bar{\psi}(x) \Leftrightarrow \Delta \bar{\psi}(x) = -i\bar{\psi}(x)$$

$$\mapsto j^\mu = \bar{\psi} i \gamma^\mu i \psi(x) = -\bar{\psi}(x) \gamma^\mu \psi(x) = -V^\mu(x) \quad \checkmark$$

4)  $\mathcal{L}(x) \mapsto \mathcal{L}(x) + \alpha \partial_\mu X^\mu(x)$  doesn't affect the action and therefore leaves the field equations invariant

"An" appropriate 4-divergence  $\mapsto$  more possible

Postulate  $X^\mu(x) = \frac{1}{2} (\bar{\psi}(x) i \gamma^\mu \psi(x))$

$\mapsto$  we even know that  $\partial_\mu X^\mu(x) \stackrel{f!}{=} 0$ , so it's already a symmetry of the Lagrangian

$$\mapsto \tilde{\mathcal{L}}(x) = \bar{\psi}(x) (i\partial - m) \psi(x) - \alpha \partial_\mu \frac{1}{2} (\bar{\psi}(x) i \gamma^\mu \psi(x)) = \bar{\psi}(x) \left( \frac{i\vec{\partial}}{2} - m \right) \psi(x) - \bar{\psi}(x) \frac{i\vec{\partial}}{2} \psi(x)$$

What happens to the  $\alpha$ ?  $\mapsto$  choose  $\alpha = 1$

$$\mapsto \tilde{T}^{\mu\nu} = \frac{\partial \tilde{\mathcal{L}}}{\partial(\partial_\nu \psi)} \partial^\nu \psi + (\partial^\nu \bar{\psi}) \frac{\partial \tilde{\mathcal{L}}}{\partial(\partial_\mu \bar{\psi})} - g^{\mu\nu} \tilde{\mathcal{L}}$$

$\left( \frac{\partial \tilde{\mathcal{L}}}{\partial(\partial_\nu \psi)} \right) \frac{\partial \tilde{\mathcal{L}}}{\partial(\partial_\mu \bar{\psi})}$  instead of  $\frac{\delta \mathcal{L}}{\delta(\partial_\mu \psi)} \left( \partial^\nu \bar{\psi} \right)$ ?  $\mapsto$  order important

$$= \bar{\psi}(x) \frac{i\gamma^\mu}{2} (\partial^\nu \psi) + (\partial^\nu \bar{\psi}) \left( -\frac{i\gamma^\mu}{2} \psi(x) \right) - g^{\mu\nu} \left\{ \bar{\psi}(x) (i\partial - m) \psi(x) - \frac{1}{2} \partial_\mu (\bar{\psi}(x) i \gamma^\mu \psi(x)) \right\}$$

-0, as  $\psi$  solves Dirac eq. = 0, see f)

$$= \frac{1}{2} \bar{\psi}(x) \gamma^\mu (\vec{\partial}^\nu - \overleftarrow{\partial}^\nu) \psi(x) \quad \checkmark$$

E.L. eq  $0 = \frac{\delta \mathcal{L}}{\delta \psi} = \partial_\mu \frac{\delta \mathcal{L}}{\delta(\partial_\mu \psi)} - \frac{\delta \mathcal{L}}{\delta \psi} = \partial_\mu \bar{\psi}(x) \frac{i\gamma^\mu}{2} + \bar{\psi}(x) m + \bar{\psi}(x) \frac{i\vec{\partial}}{2}$

$$= \bar{\psi}(x) (i\vec{\partial} + m) \quad \checkmark$$

$$0 = \partial_\mu \frac{\delta \mathcal{L}}{\delta(\partial_\mu \bar{\psi})} - \frac{\delta \mathcal{L}}{\delta \bar{\psi}} = \partial_\mu \left( -\frac{i}{2} \gamma^\mu \psi(x) \right) - \left( \frac{i\vec{\partial}}{2} - m \right) \psi(x)$$

$$= -i\vec{\partial} \psi(x) + m \psi(x)$$

$$\Leftrightarrow 0 = (i\partial - m) \psi(x) \quad \checkmark$$

$\checkmark$